

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	1801 BEDDING PLANTS	101164	595-28	Flowers, Fresh	600.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			600.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			600.0000	10.50000	6,300.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	4.5" POTS-ANNUALS	101165	595-28	Flowers, Fresh	500.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			500.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			500.0000	20.00000	10,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	4510 BEDDING FLATS- ANNUALS	101165	595-28	Flowers, Fresh	300.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			300.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			300.0000	20.00000	6,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	4510 BEDDING FLATS- PERENNIALS	101167	595-28	Flowers, Fresh	200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			200.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			200.0000	25.00000	5,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	6" POTS	101168	595-28	Flowers, Fresh	200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			200.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			200.0000	5.75000	1,150.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	8" POTS	101170	595-28	Flowers, Fresh	200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			200.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			200.0000	7.75000	1,550.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	1 GALLON POTS-ANNUALS	101171	595-28	Flowers, Fresh	200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			200.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			200.0000	3.75000	750.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	1 GALLON-PERENNIALS	101172	595-28	Flowers, Fresh	200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			200.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			200.0000	4.50000	900.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	10" HANGING BASKETS	101173	595-28	Flowers, Fresh	50.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			50.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			50.0000	8.50000	425.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	TULIP BULBS	101175	595-28	Flowers, Fresh	1,000.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			1,000.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			1,000.0000	0.35000	350.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	CALADIUM BULBS	101178	595-28	Flowers, Fresh	1,000.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			1,000.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			1,000.0000	0.55000	550.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	POTTING MIX	101179	595-28	Flowers, Fresh	100.0000	BG	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			100.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			100.0000	10.50000	1,050.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	DISCOUNT OFF WHOLESAL E LIST PRICE	101180	595-28	Flowers, Fresh	1.0000	LO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	NO BID		
1718	1	OELSCHI G NURSERY, INC.	KURT OELSCHIG	4169			1.0000	NO BID		